
 

 

 

 

 

Fitting 

Instructions 

 
TOWBAR 

For MITSUBISHI SHOGUN LWB 

 (2000-) 

For use with ZQ2034 Neck Only. 

 

CL84CU 

 

MATERIALS 
A 1 Cross Bar  
D 6 M12 x 30 x 1.25mm Fine Pitch Bolts, Nuts and Lock Washers 
E 2 Side Plates 
F 2 Cleats (4 holes) 
G 2 Cleats (2 holes) 
H 4 M12 x 110 x 1.25mm Fine Pitch Bolts, Lock Washers and Flat Washers (30mm O.D.) 
J 4 Nut Straps 
K 8 M12 x 30 x 1.25mm Fine Pitch Bolts, Lock Washers and Flat Washers (30mm O.D.) 
L 6 M12 x 35 x 1.75mm Standard Pitch Bolts and Nyloc Nuts 
M 4 M6 x 20 x 1.0mm Bolts, Nuts, Lock Washers and Flat Washers 
ZEP 1 Electrical Plate (ZEP2) 

FITTING 

*** NOTE THIS TOWBAR HAS DIFFERENT THREAD PITCHES WITHIN THE BOLT KIT, ENSURE CORRECT 

PITCH IS USED FOR EACH SECTION OF THE FITTING *** 
1. Temporarily lower gas can on right hand side (4 vertical M6 bolts).  Remove one piece towing eye bracket (4 

bolts each side and bolts on lower edge of bumper).   
2. Loosely attach Cleats (F) and (G) to Side Plates (E) using Bolts (D).  NOTE: Ensure Bolts (D) are fitted with 

heads on inboard face of Side Plates (E). 
3. Loosely attach Side Plates (E) to inside faces of chassis using 1 Bolt (K) each side, also Bolts (H) and Nut 

Straps (J).  Attach Cleats (F) and (G) to underside of chassis using Bolts (K). 
4. Loosely attach Cross Bar (A) to Side Plates (E) using Bolts (L). Attach Detachable Neck Kit (ZQ2034) and 

Electrical Plate (ZEP) to Cross Bar (A) as per separate instructions. Tighten all bolts. Re-attach bumper 
using Bolts (M). 

 
Please refer to the vehicle specification for the trailer weight and nose limits, which must be observed. 
Recommended torque settings: M8 - 27Nm, M10 - 53 Nm, M12 - 95 Nm , M14 - 150 Nm, M16 - 214 Nm 

 
WITTER TOWBARS Deeside Ind. Park, Deeside, CH5 2NY    Issue 2 

                                                       

µW0001CL84CU-FIT$021104260000}Ä
W0001CL84CU-FIT$021104260000

 


